8.2 Testing the Difference Between Means (Small Independent Samples)

Example 1: A local bank claims that the waiting time for its customers to be served is lower than its competitor.  Test the bank’s claim using the sample statistics listed below:
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Assume the population variances are equal and use 
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Left-tailed test. Since the population variances are equal
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Critical value: t = -1.699

Since the population variances are equal to find the test statistic 
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Do not reject 
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Example 2: The braking distances of 8 Volkswagen GTIs and 10 Ford Focuses were tested when traveling at 60 miles per hours on dry pavement.  The results are shown below.  Can you conclude that there is a difference in the mean braking distances of the two types of cars? Use 
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.  Assume the populations are normally distributed and the population variances are not equal.
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Since the population variances are not equal

d.f. is the smaller of 
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the critical values are 
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the test statistic is
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Do not reject 
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. Reject the claim.  

There is not enough evidence to conclude that the braking distances are different.

_1316939188.unknown

_1316939825.unknown

_1316940039.unknown

_1316940073.unknown

_1316940115.unknown

_1316940373.unknown

_1316940411.unknown

_1316940160.unknown

_1316940095.unknown

_1316940057.unknown

_1316939901.unknown

_1316939969.unknown

_1316940010.unknown

_1316939955.unknown

_1316939882.unknown

_1316939501.unknown

_1316939627.unknown

_1316939199.unknown

_1316939026.unknown

_1316939072.unknown

_1316939105.unknown

_1316939052.unknown

_1316938983.unknown

_1316939005.unknown

_1316935277.unknown

_1316938966.unknown

_1316935377.unknown

_1316935008.unknown

